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19/09/2023  10:13:572023/3887/T OBJ S. Nix The reason for the tree set to be felled is 'T1 Elder: Fell Storm damage, a symmetrical' [sic]. As best as I can 

determine from the photos provided, I cannot see how the tree is 'asymmetrical'. Surely felling is too drastic an 

option for this. Why can't the tree be reshaped, trimmed or pruned in some way?  It appears to be very healthy 

as best as I can tell.  

I object to the felling of this tree as it seems yet again unnecessary destruction of an important asset to the 

area for environmental, wildlife habitat and other reasons.
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